

THE S- FUNCTION AS ITS KERNEL WITH APPLICATION

Anil Ramawat,

Department of Mathematics, Government College, Sojat City, Palli (Rajasthan), India.

ABSTRACT

An integral equation involving the S -function as its kernel is solved in this paper. Special cases of our main result are given.

INTRODUCTION

The \bar{H} -function occurring in the paper will be defined and represented as follows:

$$\bar{H}_{P,Q}^{M,N} [z] = \bar{H}_{P,Q}^{M,N} \left[z \mid \begin{matrix} (a_j; \alpha_j; A_j)_{1,N}, (a_j; \alpha_j)_{N+1,P} \\ (b_j, \beta_j)_{1,M}, (b_j, \beta_j; B_j)_{M+1,Q} \end{matrix} \right] = \frac{1}{2\pi i} \int_{-i\infty}^{i\infty} \bar{\phi}(\xi) z^\xi d\xi \quad (1.1)$$

$$\text{where } \bar{\phi}(\xi) = \frac{\prod_{j=1}^M \Gamma(b_j - \beta_j \xi) \prod_{j=1}^N \{\Gamma(1 - a_j + \alpha_j \xi)\}^{A_j}}{\prod_{j=M+1}^Q \{\Gamma(1 - b_j + \beta_j \xi)\}^{B_j} \prod_{j=N+1}^P \Gamma(a_j - \alpha_j \xi)} \quad (1.2)$$

Which contains fractional powers of the gamma functions. Here, and throughout the paper $a_j (j=1, \dots, p)$ and $b_j (j=1, \dots, Q)$ are complex parameters,

$\alpha_j \geq 0 (j=1, \dots, P), \beta_j \geq 0 (j=1, \dots, Q)$ (not all zero simultaneously) and exponents

$A_j (j=1, \dots, N)$ and $B_j (j=N+1, \dots, Q)$ can take on non-integer values.

The following sufficient condition for the absolute convergence of the defining integral for the \bar{H} -function given by equation (1.1) have been given by (Buschman and Srivastava [2]).

$$\Omega \equiv \sum_{j=1}^M |\beta_j| + \sum_{j=1}^N |A_j \alpha_j| - \sum_{j=M+1}^Q |\beta_j B_j| - \sum_{j=N+1}^P |\alpha_j| > 0 \quad (1.3)$$

$$\text{and } |\arg(z)| < \frac{1}{2} \pi \Omega \quad (1.4)$$

We shall use the following notation:

$$A^* = (a_j, \alpha_j; A_j)_{1,N}, (a_j, \alpha_j)_{N+1,P} \text{ and } B^* = (b_j, \beta_j)_{1,M}, (b_j, \beta_j; B_j)_{M+1,Q}$$

Srivastava and Daoust [8] have generalized the Kampe de Fariet function as S -function which is defined and represented as:

$$\begin{aligned}
 S[x, y] &= S_{q_1; q_2; q_3}^{p_1; p_2; p_3} \left[\begin{matrix} 1(a_j, \alpha_j, A_j)_{p_1}; 1(c_j, C_j)_{p_2}; 1(e_j, E_j)_{p_3}; \\ 1(b_j, \beta_j, B_j)_{q_1}; 1(d_j, D_j)_{q_2}; 1(f_j, F_j)_{q_3}; \end{matrix} x, y \right] \\
 &= \sum_{m, n=0}^{\infty} \frac{\prod_{j=1}^{p_1} \Gamma(a_j + \alpha_j m + A_j n) \prod_{j=1}^{p_2} \Gamma(c_j + C_j m) \prod_{j=1}^{p_3} \Gamma(e_j + E_j n)}{\prod_{j=1}^{q_1} \Gamma(b_j + \beta_j m + B_j n) \prod_{j=1}^{q_2} \Gamma(d_j + D_j m) \prod_{j=1}^{q_3} \Gamma(f_j + F_j n)} \frac{x^m y^n}{m! n!} \tag{1.5}
 \end{aligned}$$

The Beta function is defined as:

$$\int_0^1 x^{\alpha-1} (1-x)^{\beta-1} dx = \frac{\Gamma(\alpha)\Gamma(\beta)}{\Gamma(\alpha + \beta)}; \text{Re}(\alpha) > 0, \text{Re}(\beta) > 0 \tag{1.6}$$

PRELIMINARY RESULT

$$\begin{aligned}
 \int_0^1 x^{\alpha-1} (1-x)^{\beta-1} \overline{H}_{P,Q}^{M,N} \left[cy(1-x) \Big|_{B^*}^{A^*} \right] S[c(1-x), d(1-x)] dx &= \sum_{r,w=0}^{\infty} A_{r,w} c^r d^w \\
 \times \Gamma(\beta + r + w) \overline{H}_{P+1,Q+1}^{M,N+1} \left[cy \Big|_{B^*, (1-\alpha-\beta-r-w, \rho; 1)}^{(1-\alpha, \rho; 1), A^*} \right] &\tag{2.1}
 \end{aligned}$$

Where,

$$A_{r,w} = \frac{\prod_{j=1}^{p_1} \Gamma(g_j + \delta_j m + G_j n) \prod_{j=1}^{p_2} \Gamma(c_j + C_j m) \prod_{j=1}^{p_3} \Gamma(e_j + E_j n)}{\prod_{j=1}^{q_1} \Gamma(h_j + \eta_j m + H_j n) \prod_{j=1}^{q_2} \Gamma(d_j + D_j m) \prod_{j=1}^{q_3} \Gamma(f_j + F_j n) r! w!} \tag{2.2}$$

Provided

(i) $\text{Re}(\alpha + \rho \frac{b_j}{\beta_j}) > 0, j = 1, 2, \dots, m; \text{Re}(\beta) > 0, \rho > 0$

(ii) $1 + \sum_{j=1}^{q_1} \eta_j + \sum_{j=1}^{q_2} D_j - \sum_{j=1}^{p_1} \delta_j - \sum_{j=1}^{p_2} C_j \geq 0;$

$$1 + \sum_{j=1}^{q_1} H_j + \sum_{j=1}^{q_3} F_j - \sum_{j=1}^{p_1} G_j - \sum_{j=1}^{p_3} E_j \geq 0;$$

$$(iii) \quad | \arg z | < \frac{1}{2} \pi \Omega$$

Where Ω is given by (1.3).

Proof: Express the S - function on the left hand side of (2.1) as a series uses (1.6) and express the \overline{H} - function as a contour integral using (1.1) and then change the order of integration and summation and

evaluate the inner integral using (1.7) to get the required result. The change of order of integration and summation is justified, when the given conditions are satisfied because of the absolute convergence of the integrals involved.

MAIN RESULT

The Integral Equation

$$(i) \quad \int_t^1 (u-t)^{\alpha-1} \overline{H}_{P,Q}^{M,N} [z(u-t)^\rho] g(u,t) du = f(t), t \in K, \text{ has the solution}$$

$$(ii) \quad g(u,t) = - \int_u^1 \frac{(v-u)^{\beta-1}}{h(v,t)} S[c(v-u), d(v-u)] f'(v) dv \tag{3.1}$$

Where

$$h(v,t) = \sum_{r,w=0}^{\infty} A_{r,w} c^r d^w (v-t)^{\alpha+\beta+r+w-1} \Gamma(\beta+r+w) \\ \times \overline{H}_{P+1,Q+1}^{M,N+1} \left[c(v-t)^\rho \left| \begin{matrix} (1-\alpha, 1; 1), A^* \\ B^*, (1-\alpha-\beta-r-w, 1; 1) \end{matrix} \right. \right]$$

$K = \{t : a \leq t \leq 1, a > 0\}$ and $A_{r,w}$ is given by (2.2), provided:

$$(i) \quad \operatorname{Re}(\alpha + \rho \frac{b_j}{\beta_j}) > 0, j = 1, 2, \dots, m; \operatorname{Re}(\beta) > 0, \rho > 0$$

$$(ii) \quad 1 + \sum_{j=1}^{q_1} \eta_j + \sum_{j=1}^{q_2} D_j - \sum_{j=1}^{p_1} \delta_j - \sum_{j=1}^{p_2} C_j \geq 0;$$

$$1 + \sum_{j=1}^{q_1} H_j + \sum_{j=1}^{q_3} F_j - \sum_{j=1}^{p_1} G_j - \sum_{j=1}^{p_3} E_j \geq 0;$$

$$(iii) \quad | \arg z | < \frac{1}{2} \pi \Omega$$

Where Ω is given by (1.3).

$$(iv) \quad f(1) = 0 \text{ and}$$

$$(v) \quad f'(t) \text{ is continuous in } K.$$

Proof: Substituting for $g(u, t)$ from (ii) of (3.1) and changing the order of integration the left hand side of (i) of (3.1) becomes

$$-\int_t^1 \frac{f'(v)}{h(v, t)} \left\{ \int_t^v (u-t)^{\alpha-1} \overline{H}_{P, Q}^{M, N} \left[z(u-t)^\rho (v-u)^{\beta-1} \right] S[c(v-u), d(v-u)] du \right\} dv \quad (3.2)$$

On putting $u-t = xy, v-t = y$, the inner integral in (3.2) becomes:

$$y^{\alpha+\beta-1} \int_0^1 x^{\alpha-1} (1-x)^{\beta-1} \overline{H}_{P, Q}^{M, N} \left[cy^\rho x^\rho \left| \begin{matrix} A^* \\ B^* \end{matrix} \right. \right] S[cy(1-x), dy(1-x)] dx$$

Which on using (2.1), reduces to $h(v, t)$.

Now (3.2) becomes:

$$-\int_t^1 f'(v) dv = f(t)$$

SPECIAL CASES

When $A_j = 1 = B_j$, the \overline{H} -function reduces to the Fox's H -function and (3.1) reduces to the result:

The integral equation

(i) $\int_t^1 (u-t)^{\alpha-1} \overline{H}_{P, Q}^{M, N} \left[z(u-t)^\rho \right] g(u, t) du = f(t), t \in K$, has the solution

(ii) $g(u, t) = -\int_u^1 \frac{(v-u)^{\beta-1}}{h(v, t)} S[c(v-u), d(v-u)] f'(v) dv \quad (4.1)$

Where

$$h(v, t) = \sum_{r, w=0}^{\infty} A_{r, w} c^r d^w (v-t)^{\alpha+\beta+r+w-1} \Gamma(\beta+r+w) \times H_{P+1, Q+1}^{M, N+1} \left[c(v-t)^\rho \left| \begin{matrix} (1-\alpha, 1), (a_j, \alpha_j)_{1, p} \\ (b_j, \beta_j)_{1, q}, (1-\alpha-\beta-r-w, 1) \end{matrix} \right. \right]$$

$K = \{t : a \leq t \leq 1, a > 0\}$ and $A_{r, w}$ is given by (2.2), provided:

(i) $\text{Re}(\alpha + \rho \frac{b_j}{\beta_j}) > 0, j = 1, 2, \dots, m; \text{Re}(\beta) > 0, \rho > 0$

(ii) $1 + \sum_{j=1}^{q_1} \eta_j + \sum_{j=1}^{q_2} D_j - \sum_{j=1}^{p_1} \delta_j - \sum_{j=1}^{p_2} C_j \geq 0;$

$$1 + \sum_{j=1}^{q_1} H_j + \sum_{j=1}^{q_3} F_j - \sum_{j=1}^{p_1} G_j - \sum_{j=1}^{p_3} E_j \geq 0;$$

(iii) $|\arg z| < \frac{1}{2} \pi \Delta$

Where $\Delta \equiv \sum_{j=1}^M |\beta_j| + \sum_{j=1}^N |\alpha_j| - \sum_{j=M+1}^Q |\beta_j| - \sum_{j=N+1}^P |\alpha_j| > 0$

(iv) $f(1) = 0$ and

(v) $f'(t)$ is continuous in K .

When $\alpha_j = 1 = \beta_j$, the H -function reduces to the Meijer's G -function and (4.1) reduces to the result:

The integral equation

(i) $\int_t^1 (u-t)^{\alpha-1} G_{P,Q}^{M,N} [z(u-t)^\rho] g(u,t) du = f(t), t \in K$, has the solution

(ii) $g(u,t) = - \int_u^1 \frac{(v-u)^{\beta-1}}{h(v,t)} S[c(v-u), d(v-u)] f'(v) dv$ (4.2)

Where

$$h(v,t) = \sum_{r,w=0}^{\infty} A_{r,w} c^r d^w (v-t)^{\alpha+\beta+r+w-1} \Gamma(\beta+r+w) \times G_{P+1,Q+1}^{M,N+1} \left[c(v-t)^\rho \left| \begin{matrix} (1-\alpha, 1), (a_j, 1)_{1,P} \\ (b_j, 1)_{1,Q}, (1-\alpha-\beta-r-w, 1) \end{matrix} \right. \right]$$

$K = \{t : a \leq t \leq 1, a > 0\}$ and $A_{r,w}$ is given by (2.2), provided:

(i) $\text{Re}(\alpha + \rho b_j) > 0, j = 1, 2, \dots, m; \text{Re}(\beta) > 0, \rho > 0$

(ii) $1 + \sum_{j=1}^{q_1} \eta_j + \sum_{j=1}^{q_2} D_j - \sum_{j=1}^{p_1} \delta_j - \sum_{j=1}^{p_2} C_j \geq 0;$

$$1 + \sum_{j=1}^{q_1} H_j + \sum_{j=1}^{q_3} F_j - \sum_{j=1}^{p_1} G_j - \sum_{j=1}^{p_3} E_j \geq 0;$$

(iii) $|\arg z| < \frac{1}{2} \pi \Delta'$

Where $\Delta' \equiv \sum_{j=1}^Q |b_j| - \sum_{j=1}^P |a_j| > 0$

(iv) $f(1) = 0$ and

(v) $f'(t)$ is continuous in K .

REFERENCES

1. Braaksma, B.L.J., Asymptotic expansions and analytic continuations for a class of Barnes integrals, Compos. Math. 15, (1963), 239-341.
2. Buschman, R.G. and Srivastava, H.M., The \overline{H} - function associated with a certain class of Feynman integrals, J.Phys.A:Math. Gen. 23, (1990), 4707-4710.
3. Erdelyi, A. et al., Higher Transcendental Functions, Vol.1, Mc.Graw-Hill, New York, (1953).
4. Fox, C., The G and H-function as symmetrical Fourier kernels, Trans. Amer. Math.Soc. 98, (1961), 395-429.
5. Mathai, A.M. and Saxena, R.K., The H-function with applications in Statistics and Other Disciplines, John Wiley & Sons, 1978.
6. Rathie, A.K., A new generalization of generalized hypergeometric functions Le Mathematiche Fasc.II, 52, (1997), 297-310.
7. Singh, R.P., Generalized Struve's function and its recurrence equations, Vijnana, Parishad Anusandhan Patrika, 28(3), 287-292.
8. Srivastava, H.M. and Daoust Martha, C., Certain generalizated Neumann expansions associated with the Kampe-de-Feriet function, Indag. Math.31, (1969), 449-457.
9. Srivastava, H.M., Gupta, K.C. and Goyal, S.P. (1982), The H-Functions of One and Two Variables with Applications, South Asian Publishers, New Delhi and Madras, (1982).
10. Vasudevan, T.M. and Shahul Hameed, K.P., An Integral equation involving the generalized Struve's function as its kernel, The Mathematics Education, vol. 42(2), (2008), 118-122.
11. Watson, G.N., A Treatise On The Theory of Bessel Functions, Cambridge Univ. Press., London, (1961).

Copyright © 2017, Anil Ramawat. This is an open access refereed article distributed under the creative common attribution license which permits unrestricted use, distribution and reproduction in any medium, provided the original work is properly cited.